54 ,

, 1 11 ,9

1
, 1 2 9 coo 3 ,
3 COD 20mg g , 0.2mg ¢ ,3
cob 3 , 3 1
,COD mg g 9 22.21,3 22.49 mg g 9
0.322,3 0.334 ,9 cop 1 , 3 ,2
cop 2 , 4 2
,COD 9 11.68,2 25.69, 9 0.755,2 0.377
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AIF| & 7 LS & (Ozmg/ | (Smg/ HE-& (EBE
H & @Y | (md | (C) | (%) | gki®) | g&i®) | (% (%) (om) | & | #
5 1 |13:54 | 19.8 | 24.3 | 29.1 | 26.28 0.48 7.5 10.6 E K& 3 Bl X
: 2 |14:04 | 26.0 | 23.7 | 25.9 | 35.13 0. 49 8.6 11.7 ® K& 2 FoX
9 3 |14:18 | 22.8 | 24.2 | 624 | 11.90 0.08 3.1 4.2 |RW K& | 3 |[F#| &
: 4 114:45 | 41.0 | 23.3 | 27.0 | 24.50 0. 54 7.3 11.3 ® K&, 3 | X
5 |15:11 | 27.0 | 24.4 | 57.2 | 13.24 0.02 3.0 4.4 WY KRR | 3 ol X
1 |13:32 | 20.0 8.9 | 28.7 | 28.93 0. 40 6.9 10.3 # K&| 3 5 | X
2 |13:48 | 27.0 8.7 | 26.8 | 32.54 0. 54 7.4 11.7 f K& 2 5 | X
3 |14:00 | 27.5 8.9 | 56.7 9.67 0. 06 2.6 4.0 |3&M K | 2 B
4 |14:25 | 41.0 8.9 | 28.1 | 28.39% 0. 64 7.1 9.9 e JE&| 2 g [ %
5 |14:55 | 28.0 8.7 | 56.1 | 11.93 0.03 3.2 4.6 | K 1 |FEA| &
5
RN # & A c £ B B OB | m B E & o # X
EiE|E & 2 0 ® BB E
£ 5| # L3 7 EE D it % (500C) | (800T) TR | B OB
B || K 7 & =t (Ozmg/ | (Smg/ He - | BEE
=] 2 || (md) | (O | (%) | gki®) | gl | (% %) () | & | &
5 1 9:17 | 12.5 | 24.2 | 75.5 1.47 Tr 0.1 3.2 B OE& | - | T D
- |l 2 9:27 9.5 | 24.5 | 61.2 8.55 0.12 3.2 5.0 K& 2 | K
9|o| 3 9:39 | 12.0 | 24.4 | 38.8 | 11.08 0. 26 5.9 8.6 £ R 3 B X
|| 4 9:51 | 13.5 | 24.4 | 57.8 8. 67 0.04 2.5 5.5 | ER) i 2 |FH| X
9 5 |10:06 | 13.0 | 24.3 | 41.6 | 16.98 0.98 5.5 7.7 ® KE 3 | X
6 |[10:23 | 13.0 | 24.6 | 31.9 | 23.33 3.13 6.0 19.4 f A - | & | X
8 9:55 | 13.0 9.0 | 744 | 21.62 Tr 1.3 3.5 [ 3 - | 5% | b
- A 10:07 9.0 8.9 | 52.2 | 29.99 0.08 3.4 6.2 ® KE | 10 | 5 H
D 10:21 | 12.5 8.9 | 39.4 | 17.56 0.26 4.4 8.9 | K& | b 5% | ®
i 10:34 | 13.8 8.7 | 58.4 | 15.92 0.07 2.6 5.5 |®ik KB 5 5 G
10:52 | 13.0 8.6 | 39.8 | 25.54 0.94 6.4 8.9 f K2 3 # | &
11:05 | 13.0 8.6 | 317 | 43.48 0.91 8.3 11.2 € K 3 B | X
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